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BBeaeHne HoBoOU nepemMeHHOMU

Mpumep : o ®dopmynbl:
2sinx+sinx—=1=0 e« sinx=y
I_I);CTbsinx=y Fuip N YENIEY;
2y +y—-1=0
D=b2—4ac=1—4-2-(—1)= 1 V1,2=(—bi\/D)/2a
1+8=9

\D =3

yl=(-1+3)/4 = %
y2=(-1-3)/4 = -1

sin X =% sinx=-1
X =T1/6+I1n X=
3[n/2+Mn

nez



Pa3noXxeHue Ha MHOXUTenu

NMpumep :
2sinxcosx — sinx =0
sinx(2cosx-1) =0

sinx=0 2cosx-1=0
x=[In+l1n  2cosx=1
2x=1
X="%
x=[1/3+[1n

nez

PopMynbl:
sinxcosxxsinx=0
sin(cosxt1)=0
cosxsinxtcosx=0
cosx(sinxx1)=0




OoHopoaHoe ypaBHeHuUe |

CTerneHu

Mpumep : e Popmynbl:
2sinx —3cosx=0 |cosx#0 * Asinx+Bsinx=0 | cosx#0
2tgx—3=0 e Asinx+Bsinx=0 |sins #0
2tgx=3
tg x=3/2
x = arctg3/2+[1n | A
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OaHopoaHoe ypaBHeHue |l

CTelneHwu
Npumep : * ®opMynbl:
6sin’x+2sinxcosx-4cos’x=0 * Asinx+Bsinx=0 | cos*x#0
| :cos? x#0 * Asinx+Bsinx=0 |sin’x#0
6tg? x+2tgx-4=0
[lycTb tgx=y
6y? +2y-4=0
D=4+4*6*4=100; VD = V100 = 10
y1=(-2+10)/2*6=8/12=2/3 ? ?
y2=(-2-10)/2*6=-12/12=-1 o . @
X=arctg2/3+[n  x=3l1/4 N B S

nez |\ e r,;,)/



MeTog BcnomoratesribHOro

dPryMmeHTa
e Mpumep : * ®opmynbi:
. ;/3 i/ir(1\2/)3(—;:os(2x)=1 2| :2 * Asinx+Bsinx=Csin(x+t)
. C= (1=
e C=VA2+B?2

« 3/2sin2x -1/2cos2x= %
 cosl1/6sin2x-sin [1/6cos2x= % * sint=B/C
* Sin(2x-T1/6)=%

o 2x-[1/6=I1/6+2Mn 2x-[1/6=[1-I1/6+2[1n

e 2x=I1/3+2ln | 2 2x=M+2Mn | 2 Z COSt:A/C
o x=[1/6+[1n x=[1/2+[n

NCEz
f

€

1CTT

-
M



MeTon yHuBepcanbHOW

NnoACTAHOBKMU
* [Mpumep : e PopmMynbl:
* 3sinx-4cosx=5 R cosx=(1-tg 2 X/Z)/
« [lycTb tgx/2=t, TOrga sinx=2t/1+t* ]
e cosx=(1-t2)/(1+t?)  x#M+2Mn ° /(1+tg X/Z)
« -6t+4-4t *+5+5t°=0 e Sinx=(2tgx/2)/
* t%-6t+9=0 ; 5
o (t-3) 2 =0: t=3 /(1+tg X/2)
* tgx/2=3 s X¢|_|+2r|(1
« x/2=arctg3+[1n -
* X=2arctg3+2[ln > 41
hez 2



Cnacmbo 3a BHUMaHue!




